Active and Passive Voice

Read the following sentences and rewrite them into passive voice. Choose the right answer
from the given alternatives:

Question 1.

The choir will sing a song.

(@) A song will sing the choir.

(b) A song will be sung by a choir.
(c) A song will being sung by a choir.
(d) Sing a song will be by the choir.

¥ Answer

Answer: (b) A song will be sung by a choir.

Question 2.

She drives a car.

(a) A car drives her.

(b) A car has driven by her.

(c) A car is driven by her.

(d) A car is being driven by her.

¥ Answer

Answer: (c) A car is driven by her.

Question 3.

Who has broken the window pane?

(a) By whom has the window pane been broken?
(b) Who has been broken the window pane?

(c) Who has been broken by the window pane?
(d) By whom has been broken the window pane?

¥ Answer

Answer: (a) By whom has the window pane been broken?

Question 4.

They declared him a culprit.

(a) A culprit was declared him by them.
(b) He was declared a culprit by them.
(c) He was declared by them a culprit.
(d) A culprit was declared by them.

¥ Answer

Answer: (b) He was declared a culprit by them.



Question 5.

Who teaches you English?

(a) Who is taught English by you?

(b) Who is being taught by you English?
(c) By whom are you taught English?
(d) By whom is taught you English?

v Answer

Answer: (c) By whom are you taught English?

Question 6.

I am writing a book.

(a) A book is written by me.

(b) A book is wrote by me.

(c) A book is being written by me.
(d) A book is be written by me.

v Answer

Answer: (c) A book is being written by me.

Question 7.

I wrote a letter.

(a) A letter is written by me.

(b) A letter was written by me.

(c) A letter by me is written.

(d) A letter was being written by me.

v Answer

Answer: (b) A letter was written by me.

Question 8.

A terrible cyclone destroyed the village.

(a) The village was destroyed by a terrible cyclone.

(b) The village is destroyed by a terrible cyclone.

(c) The village was being destroyed by a terrible cyclone.
(d) A terrible cyclone was destroyed the village.

¥ Answer
Answer: (@) The village was destroyed by a terrible cyclone.
Question 9.

They have saved the trees.
(a) The trees have saved by them.



(b) The trees have been by them saved.
(c) The trees by them have saved.
(d) The trees have been saved by them.

v Answer

Answer: (d) The trees have been saved by them.

Question 10.

He finished his breakfast quickly.

(a) His breakfast is finished quickly.

(b ) Quickly is finished his breakfast.

(c) His breakfast was finished by him quickly.

(d) His breakfast was being finished by him quickly.

v Answer

Answer: (c) His breakfast was finished by him quickly.



